' 25 23 - 250t TH 9% [B

1-2 [6] Gi/dlu} thdl(3)
T
It FHE MZI50 XIS shEs EAL. |
%/—/%(_/
OR2F ZMDt L2k ZMS SIsHA 35747t =0|E{0f OfSHA0| 8, ko] 11

USLICE O|SofN =2t F40] 317H0[H

USLIEE SO[E0] U= o2 25
ot JU2 R e

MIL— T
R BENe?

35 ?
\_V_) A
31 ? 8 1
35-31=4 g 474 4 8+11=19 g 199
1 TRF B2 2 B2 BN 40Pt 9 SOIE] dsko] 9%, ofskio] 20
QUELICE OOl =2 B40| 30t T AUCE SOE] YU S BE 3 3
TR EM2 3 HAWIe? wite?
42 ?
— /H_/ \ﬁﬁk )
31 ? 9 20
5 g 5 g
3 SSTO| 0| 208, OfSMI0| 33E 4 B MZOloL KEM M0} g

UBLICL 2SFol s e DS

= ohd2 B 3 50% USLICH O|F0IM HatM ME0|t
HANR? 40%0|H XM MZTO|= 51 EHANQ?
? 50
- A
20 33 40 ?
4 g 5 g
ct
T4l

AL 222 0881 A548t ZAX] M) FOR ALL kr



	1-2-6-11 문장제 초급 - 부분과 전체 유형 문제



